SURDS
SKILLS QUESTIONS

'

Q1.Write in simplest form:
(@)3V2+4+2

(b) 10N 7 +3~7
c)4V6-3V6
d)V6+3V6+2V6
e)2V3+3V3-443
fy V3-43+7+3

—~ ~

(
(

Q2. Write in simplest form:
32

V8 +v2

(a)
(b)
(c)V75-+3
(d)

(a) V12 x V15
(b) 3V 7 x~ 21
(c) 3V10x7V5
(d) 3V13x26
552
Q5. Rationalise the denominator and simplify where possible:
(@) 7 (b) V5 ()45 (d)2+V15 (e)4V5
V2 N7 V2 324 515
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ANSWERS

Q1.(a)7 V2
(b)13\/7

(c)
(d)
(e)
()

Q2.(a)4+?2
(b) 210
(c)4+5
(d)5V6
(e) 230
f73

ev
V3
443

Q3.(a)3V?2
(b) 2
(c)
(d)

Q5.(a)7V2/2
(b)N35/7
(c)2+10
(d)v10/6
(e)4~3/15

xceleratemath.com



https://xceleratemath.com/

	SURDS
	SKILLS QUESTIONS
	Q2. Write in simplest form:
	Q3. Write in simplest form:
	Q4. Write in simplest form:
	Q5. Rationalise the denominator and simplify where possible:
	ANSWERS



